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QUESTION 1

You are using the Match Designer with a One-source match specification. You have attempted to configure the match
specification test environment and received an error when you selected \\'Update\\'. What is the most likely cause of the
problem.

A. The \W'Configuration File Location\\' is blank.

B. The \V'Maximum Frequency Value\\' is blank.

C. The \'Data Sample Data Set\\' is not a Data Set.

D. The Test Results Database\\' is not a defined connector.

Correct Answer: B

QUESTION 2

Which data type(s) will NOT be supported by Standardization?
A. Binary.

B. Integer.

C. Non-vector data types.

D. Non-aggregate data types.

Correct Answer: A

QUESTION 3

A match review was just completed and determined that individuals with different middle names are being
grouped together.

Which option would be effective in breaking these two individuals apart?

A. Decrease the value of the m-prob for the middle name

B. Set the override file A missing weight for middle name.

C. Set the override disagreement weight for middle name.

D. Set the override disagreement weight for primary name.

Correct Answer: C

QUESTION 4
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When reviewing the results of a Match job you notice that some records are not included in a match group.
Which option would you review to determine why the records are not matching?

A. Change the Match cut-off to-100.

B. Change the Survive rule to include Residual records.

C. Check the records for missing data values in the block fields.

D. Change the match from Two-source many-to-many to Two-source one-to-many.

Correct Answer: A

QUESTION 5

Once changes are introduced in a Rules Set, which option confirms the new rules set works properly with your data?
A. Run the Rules Tester.

B. Have users check manually.

C. Check the Unhandled tokens.

D. Run the job again and confirm results.

Correct Answer: D

QUESTION 6

When would you use the survive technique \V'Most Frequent\\'?

A. When more than one target field is required.

B. When the most frequent occurrence is required.

C. When the most frequently populated value is required.

D. When the most frequently populated value is required with two or more occurrences.

Correct Answer: D

QUESTION 7

An initial match specification is built and executed- The match executes slower than expected and it is suspected that
blocking may be a factor.

Which option would be effective in determining if the block sizes are too large?

A. Create an investigation routine using the blocking fields for each match pass.
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B. Review the match specification test results graph to determine blocking results.
C. Add disagreement weight to key fields where appropriate to break apart matches.
D. Analyze the blocking fields within the match specification to see if there are enough fields.

Correct Answer: A

QUESTION 8

What two approaches to use when determining fields to use for blocking?

A. Investigate the combination of fields to assess block sizes.

B. Selecting which field to use will have little impact on the matching results.

C. Select fields with high data frequencies even if default values are present.

D. Each field should be investigated to determine completeness and validity.

E. Use as few fields as possible in the blocking phase so more records are grouped.

Correct Answer: BE

QUESTION 9

How can Word Investigation reports be used to modify a rule set?

A. Corrects spelling errors in the data field.

B. Adds tokens to allow identification of additional duplicates.

C. Identifies new tokens to allow additional words to be classified.

D. Identifies matched words to be used in match designer frequency distribution.

Correct Answer: A

QUESTION 10

What pattern would search from the end of the string to find a pattern that ends with a number?
A, *°

B. #°

C.MN$

D.#\| $

Correct Answer: C
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QUESTION 11

What will improve classifications if there are a large amount of "@" and "?" symbols in a standardization pattern report?
A. Word with Advanced options.

B. Word with special symbol processing options.

C. Character Discrete on all unhandled patterns.

D. Character Concatenate on selected columns.

Correct Answer: A

QUESTION 12

Which statement is true?

A. Complex Boolean survivorship rules are permitted.

B. The first defined survivorship rule takes precedence.

C. Complex fuzzy matching survivorship rules are permitted.

D. Blank fields are automatically dropped from survivorship consideration.

Correct Answer: B

QUESTION 13

Which statement describe the benefits of parsing data?
A. Optimized database loading.

B. Application of phonetic codings.

C. Access to individual data tokens.

D. Pre-processing of country specific data.

Correct Answer: A

QUESTION 14
Which of these statements is NOT true?
A. NLS can only process multi-byte characters.

B. NLS supports various languages and countries.
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C. You can process Japanese data in an English version of QualityStage.
D. When installing a non-English language version of QualityStage, NLS is enabled automatically.

Correct Answer: B

QUESTION 15

Which acronym is also referred to as CASS?
A. AVI.

B. GEO.

C. MNS.

D. US AC.

Correct Answer: D
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